«Wwp 8°9% A L'€S 4
WP 9'vG es LS 3
“10A AINOIT dOdd 3dNSS3dd 31vd MO4 ‘dANFl | 137100 ‘dN3Fl 137NI vIa3anw 3ais

SHILINITTIN NI SNOISNINIA TV

BPIS JUOL UO Z'¥S L'HS T'ES L'ES ZS 1S 0} puodsarod o
9pIsS 3oeq uo suonedo| gyl L'yl e el L'€LZl LL <
8
ot
e o %
6€. N O 3
292 L
Lie Lce =
8 & o
< T 2
- ~( N\ ¥ = &
- ™ 20 mm o)
N » - "Ezx &
o WOE=S o
4+ 23ks 9
o ESxcpE E
<k W<g <«
Nlo| © \r/ — <| o N/ﬁ 2 o Y287 &
N=1= [7p] N —
o
N I+| N
) ¢ 5 le
1o |
= b, \ k A il
S a.z.ﬁ 0
5 gz 3
3T 8y N
233
989G 0z

0€=3
25=3

(2x) M10x25
| |
o (4x) M10x25
B
[

Alloy 304
&
@27

S1
1/2" GAS)

C31

1501 228/1-G 1f2

6vE '60€ ov

(2x) M10x25
A
x) M10x25

N |eAeT ej|y NIy} paliaA 8q 0} paau (8ouela|o} 8'1) sjuswalinbal Jawojsno anbiun |e jey} 8joN

/

www.alfalaval.com
REV 0

4/16/2024

643.7 mm
322.0 mm
739.0 mm

PED/UK

TOTAL LENGTH
TOTAL WIDTH
TOTAL HEIGHT

C€

ACS502EQ-210AH-F (3075099729)

PRESSURE VESSEL APPROVAL

G

CUSTOMER NAME / REF. NO.

COMPANY / REF.




